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Type "copyright", "credits" or "
>>> import turtle

>>> t = turtle.Pen()
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32

Type "copyright", "credits" or "
>»> import turtle

>>»> t = turtle.Pen()

>»> t.forward(100)
> |
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>>> import turtle

>>>t = turtle.Pen()

>>> t.forward(100) A
>>> t.right(90)
>>> t.forward(100)
>>> t.right(90)
>>> t.forward(100)
>>> t.right(90)
>>> t.forward(100)
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def dnuﬂ.u_tutl : 0

label=symbol .sym _name.get (int (ast[0]), ast[0])
e ! %8s [label="%s' & (nodename, label)
f isinstance(ast(l], str):
if ast[l].strip():
print '= ¥s7];" % ast(l]

for in n, childenumerate(ast[l1:]):
children.append(dotwrite (child))
nodename

stm Pl s > (' &
or in :pamechildren

print ks’ § name,
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>>> pront("Hello World")
SyntaxError: invalid syntax

>>> 1 +
SyntaxError: invalid syntax

>>> 3 4% 2
SyntaxError: invalid syntax




print(" &FS SHA 22 IO/ 0 L4 1S £ EHLICA
print(" ZE I BEZE ZI/508 BHLCL")

print(" 2/ 8" + 3) —_

print(" 2r&"" * 3) £ +&
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Traceback (most recent call last):

File "D:\s.py", line 3, in <module>

print(" 251" + 3)

TypeError: Can’t convert 'int' object to str implicitly
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import turtle
colors = ["red", "purple", "blue", "green", "yellow", "orange" ]
t = turtle. Turtle()

turtle.bgcolor("black")
t.speed(0)

t.width(3)

length = 10

while length < 500:
t.forward(length)
t.pencolor(colors[length%6])
t.right (89)
length +=5
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>>> print(" 2t S o1 M 2? 0121 Z")
OtE oI M 2? 012 &

>>> print(" A= DHOI# S 2= Z0PEHLICLY)
= Doiss 2= Z018L/0).

>>> print("9*8 =", 9*8, " &/L/L}.")
9*8 =72 2L/}

>>> print(" 25 5/ HAHL.")
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Solution

>>> import turtle
>>> t=turtle.Pen()
>>> t.shape(“turtle”)
>>> t.forward(100)
>>> t.|eft(120)

>>> t.forward(100)
>>> t.|eft(120)

>>> t.forward(100)
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import turtle

t = turtle.Turtle()
t.shape("turtle™)
t.forward(100)
t.left(60)
t.forward(100)
t.left(60)
t.forward(100)
t.left(60)
t.forward(100)
t.left(60)
t.forward(100)
t.left(60)
t.forward(100)
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